L]
S
S
c
S
—
Q
N
S
4
)
2
%)
<
|
-
<
e 1
ke
T
i
0.5

7000 GeVpp Underlying Event

---6-- Pythia 6.425 atlas-csc
--*-- Pythia 6.425 d6t ]

---¥-- Pythia 6.425 dw -
—oe— Pythia 6.425 p0 7

L L L L
Z(pT) vsA@(n| <25, p >0.5GeV,p >5GeV)

B ATLAS 7

~= - Pythia 6.425 default

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

= ATLAS 2010 _S8894728 -
| | | | | | | | L, | | | | | | ]
:l T T T T | T T T T | T T T T | :
— —2
N * ]

**
— *—e K ) 2 —
[55e M i!y** K o K Kok ok **************‘*** *x ¥ ‘;v'i!‘i—

Al !‘! | ] O 1

| ) _|

S > A0

........... = S - o oV T ATAS Q

L O'GO‘GO@'@‘G Q@Q o0 @Q@-G@ |
| —0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


